N = 0l & AF & F Al A

FH: ST
HH: MESSFLY HMAHA B2l (2L 22 /235HH)
&t 23 ME=ZHI (&9 HM
_ _ _ AT
SAN-ZH-SA(FA) - NFAY - BES O AF K ‘Oﬂ/i\_Fo” Hlw &2
=3I 82,704,779 80,616,857 2,087,922
= 45,813,634
= 8,881,000
) 3,133,395
& 5,403,773
< 19,472,977
HEBSRM MAN B2 (23222 /235HH) 82,665,979 80,582,457 2,083,522
= 45,813,634
& 8,881,000
pJ 3,133,395
& 5,403,773
[ 19,434,177
EIME+=FHI 52,074,312 67,331,170 ~ 15,256,858
= 34,813,477
) 1,236,400
& 5,403,773
< 10,620,662
S ME+ZHIF 39,000 39,000 0
201 L2 10,000 10,000 0
01 AtR 22l 10,000 10,000 0
O gt=ZH| 10,000
O2} M E=FHFIMNRESFHLYS 10,000
202 o4 Hl 24,000 24,000 0
01 = Lo bl 24,000 24,000 0
O3t 2+=38F2 0 24,000
203 R =2 5,000 5,000 0
03 Al M =& 2= &l 5,000 5,000 0
O2st2el gz 5,000
= IHXE 2 ME = 40, 155,441 53,107,687 A 12,952,246
= 34,813,477
< 5,341,964
403 XXM S =01 40,155,441 53,107,687 N 12,952,246
= 34,813,477
< 5,341,964
01 AXIESHA2E = 40, 155,441 53,107,687 N 12,952,246
O=tANE 2 ME = 40, 155,441
= 34,813,477
[ 5,341,964
CXNHEZME S 2,000,000 2,500,000 A500,000
403 XXM S =01 2,000,000 2,500,000 500,000
01 AXIESHH 22 = 2,000,000 2,500,000 A500,000
O=EXNE=23ME S 2,000,000
SXNE2SME(01) 6,540,785 6,484,617 56, 168




SH: SSHH
M. MER3A0 MAHE B2=22| (2L 22 /25 M)
CHel: 23 EBSEH (&te @2
) _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
=2 5,031,373
[ 1,509,412
403 XX SRS XH=0| A 6,540,785 6,484,617 56,168
=2 5,031,373
[= 1,509,412
01 AXISH IS = 6,540,785 6,484,617 56, 168
OEXNE2S MBS (01) 6,540,785
=2 5,031,373
[= 1,509,412
CANH2IFWE2=Z G (0] ) 643,720 532,000 111,720
2 372,400
[~ 271,320
401 A& HI L =20 643,720 532,000 111,720
=2 372,400
[ 271,320
01 Al&H] 639,000 528,200 110,800
OSXNE2SHESZH(01) 639,000
= 369,740
[= 269,260
03 Al 20| 4,720 3,800 920
OSKNESSHESZH(0]2) 4,720
=2 2,660
[= 2,060
2324 300,000 200,000 100,000
403 XX SRS 20| A 300,000 200,000 100,000
01 RXIESHAEEX 300,000 200,000 100,000
D232 300,000
ST XA A DS 1,395,366 4,057,866 A2,662,500
pJ 1,236,400
[= 158,966
308 XXM SO0l & 609,768 602,995 6,773
) 540,300
[= 69,468
Ol AXSHINEERS 609,768 602,995 6,773
CIM S XAl A SIS X 22 609,768
J| 540,300
[= 69,468
403 XX SHHIS =0 & 785,598 3,354,871 A2,569,273
pJ 696, 100
[= 89,498
01 AXISH IS = 785,598 3,354,871 A2,569,273
OS2 HIH LS XAl A S = 785,598
) 696, 100
[= 89,498
CXNH2SHLHAI AR RS 300,000 200,000 100,000




A S
HM: MER2RAS HAHE BZ2e| (S22 /25H)
&2 23 ME+=FH| (Gt ® Q)
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
403 MRS S K20 300,000 200,000 100,000
01 AXHHMANE2EE X 300,000 200,000 100,000
O XNE S HE THAIAE 2= 300,000
CSXNEESIMNES (22 H X)) 700,000 0 700,000
403 XX S S K201 700,000 0 700,000
01 MIXIEM A2 E X 700,000 0 700,000
(JZEsAS2 (DA LA XS 700,000
S} MES XS 3,236,747 2,117,547 1,119,200
= 46,157
J| 1,896,995
& 1,293,595
S MES XS FX 17,000 14,000 3,000
201 2 et2Hb| 8,000 5,000 3,000
01 AR 22/l 5,000 5,000 0
Ogdt~2H| 5,000
OS2 MESKNJFIARESALYHIS 5,000
03 HAI2 S H| 3,000 0 3,000
OANZE2S MY RE AR I = 3,000
202 (4 Hi 9,000 9,000 0
01 2| 9,000 9,000 0
O2StMES K=& W 9,000
S MR 20 2=H I XS 36,000 36,000 0
308 AR SOIH 36,000 36,000 0
01 AXIEMEIAEEZ 36,000 36,000 0
O23MAZ0olI&SHI K& 36,000
=S MAa22] 20,000 20,000 0
= 20,000
308 AHX| SISOl A 20,000 20,000 0
= 20,000
01 AXIEMBIAEEZ 20,000 20,000 0
O=SMarze| 20,000
= 20,000
SESMSE22AH TS 1,431,826 897,840 533,986
| 1,193,189
& 238,637
308 XAtXISHHMSOIA 1,431,826 897,840 533,986
J| 1,193,189
& 238,637
01 AIXSHIBAEXZ 1,431,826 897,840 533,986
(=SSt A H| ol & Hl X 1,431,826
J| 1,193, 189




22X 23
M. MER3A0 MAHE B2=22| (2L 22 /25 M)
e S2SMES XA (&9 ®M
_ ) _ pofEN
2N -3 - c2(3H) - NEME - HES Ol &F2H bﬂ/‘\_“’” Hns
| == 238,637
=02 MESSHE DL 29 40,000 40,000 0
308 KX EHHSO0I A 40,000 40,000 0
01 AXESHINMNEEZZ 40,000 40,000 0
Oox0iSdsSEsdEnsdad 40,000
FA=Sor2el 510,000 310,000 200,000
201 82| 100,000 0 100,000
01 AR 22l | 100,000 0 100,000
OIS MEHCHF HE 2l M & 100,000
307 Q1201 & 410,000 310,000 100,000
02 QIZHFAE X 410,000 310,000 100,000
OBSFRLEINIASL AN 160,000
OSJtEE N = XI& 150,000
OSo00E o =UICHRYMEZIHEE S 100,000
S HAAI A ESKA 935,764 756,171 179,593
J| 703,806
== 231,958
307 21201 & 570,000 398,572 171,428
J| 399,000
< 171,000
02 DIZtZAB X 570,000 398,572 171,428
OS2 MAA 2 2= AL 570,000
J| 399,000
= 171,000
308 AHXISHH SO0l A 365,764 357,599 8,165
J| 304,806
= 60,958
01 AIXSHHBABEZ 365,764 357,599 8,165
O=tMES22HI X 365,764
J| 304,806
= 60,958
Zo e SU2RA o] 26,157 43,536 A17,379
= 26,157
308 K XIEHH SO0l A 26,157 43,536 A17,379
= 26,157
01 AIXSHHBABEZ 26,157 43,536 A17,379
OS2 sLd2R2e A olAH| 26,157
= 26,157
S MAA2ESXNEA(=XE) 220,000 0 220,000
307 21201 & 100,000 0 100,000
02 IZtF A B X 100,000 0 100,000
OSXNEEII2MaAl2e g1 100,000




S 2aH
Y ME23RAS MAN B2l (2L 22 /23HM)
@2l ZHES KA (ctel &
- ME
SN HH - CR(BH) - NRAY - B sy 01l & 01 s
308 KX SHHSO0IA 120,000 0 120,000
01 IXNHHESNEXZ 120,000 0 120,000
OSXNEZsMEE 228X & 120,000
S ,493,000 1,155,140 337,860
= 700,000
= 793,000
P2 FX 16,000 15,000 1,000
201 et A | 5,000 5,000 0
01 AR 2t eld| 5,000 5,000 0
Dget=&Hl 5,000
ORE2MNAFIANRESHIS 5,000
202 (44l 11,000 10,000 1,000
01 =2 WA b 11,000 10,000 1,000
OS2 A& =80 11,000
FERAMAESTA 472,000 49,140 422,860
308 XX SHHS0IA 472,000 49,140 422,860
01 XM BLEELS 472,000 49,140 422,860
OFRSE3 MBI AKX A 90,000
S MERNSKE 319,000
DR EsMES M XA 48,000
O SXE =0l S HHAHI X & 15,000
2SN EXIE A X 20,000 20,000 0
403 AHXIEHH S X201 ™ 20,000 20,000 0
01 HXHH =2 xR 20,000 20,000 0
[]er 22 OHLY H X[ B A X 20,000
fEE}ME NS 2AE 910,000 650,000 260,000
=2 700,000
= 210,000
403 KX SIS AH=0[1 & 910,000 650,000 260,000
= 700,000
= 210,000
01 RtXISM 2L X 910,000 650,000 260,000
OFREsI M-S 2AE 910,000
= 700,000
L= 210,000
SRt =THus2EIA 75,000 0 75,000
403 XX SHHMS =0l & 75,000 0 75,000
01 XIS A2 X 75,000 0 75,000
OREsMEsns2E T 75,000
XIS U o 19,103,920 2,900,600 16,203,320




A
I‘I iH:
C}—Ol:

_ MNuE o
SAN-ZH - SA(FAH) - NRAY kol Ol AF o8 BlusZ
= 10,254,000
= 3,614,000
= 5,235,920
SHMAZHAL AR FN 38,249 25,000 13,249
101 Q1248 13,249 0 13,249
04 JIAR2ERSES 13,249 0 13,249
2 MR 2ele 2 40,8308 12 %3002 12,249
C5CHALS) 2 & 1,000
201 Yer2 Y| 15,000 15,000 0
01 At 22/ H| 15,000 15,000 0
O et gH| 15,000
ORSMAYHILA AR FTANLEEL S 15,000
202 04 10,000 10,000 0
01 2LH 01| 10,000 10,000 0
DSy ZY ez 10,000
SHWEMLA VS S 82,000 75,000 7,000
201 Yer2Y| 82,000 75,000 7,000
01 At/ H| 82,000 75,000 7,000
Degsy 82,000
ORI B S YU RIS 82,000
SN A AGIIHRIIIE O 150,000 100,000 50,000
308 X+l £ M S0l & 150,000 100,000 50,000
01 RSB A XS 150,000 100,000 50,000
OSNE S5 & A B35 HR 210 =0H 150,000
SHMAUZPAN X =2 100,000 100,000 0
201 LBre | 100,000 100,000 0
01 At22t2IH| 100,000 100,000 0
D erag| 100,000
OSSMUZRAX M =2 100,000
TgeEuAYN L 5,740,300 1,374,600 4,365,700
= 3,614,000
= 2,126,300
403 It XIS H S K20 & 5,740,300 1,374,600 4,365,700
= 3,614,000
= 2,126,300
01 RIS A= B E 5,740,300 1,374,600 4,365,700
OZgseaAAYX 2 5,740,300
z 3,614,000
= 2,126,300
SHME LA AL DE S A 50,000 50,000 0
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SM: 28
Hal: MESARM HHE 2E2E(2HLBZ/25H)
Sl 2SMXFHZ LA AL (e @
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot Hws2
207 1N LB 50,000 0 50,000
01 2R gt 50,000 0 50,000
mlEEEEEEBIES EER-TEY 50,000
B ERNEE T 11,672,371 0 11,672,371
=2 10,254,000
= 1,318,371
403 KX EHH S K20 & 11,572,371 0 11,572,371
=2 10,254,000
= 1,318,371
0f MXISHH RS E 11,572,371 0 11,572,371
OHHS MR ERE) 11,572,371
= 10,254,000
= 1,318,371
Lo BRI 376,000 705,000 329,000
SSRMESAY 200,000 200,000 0
307 212H0| & 200,000 200,000 0
VIR RS 200,000 200,000 0
(% S22 X 100,000
EEEEEP PR 100,000
SapaEe X 176,000 205,000 29,000
308 XX £ S OI & 176,000 205,000 29,000
01 KIXISHZ A2 ES 176,000 205,000 29,000
OMSo&0SHeYE8 T2 30,000
CIM H A E O AL 60,000
[CEPNETE LN Feter 50,000
OSSR HYSHTZ IS 36,000
AR AEY 6,382,000 6,373,000 9,000
3 5,267,000
= 1,115,000
SNESANLALED 15,000 14,000 1,000
201 YEr2gy| 5,000 5,000 0
01 ALR 2l 5,000 5,000 0
mEETE=Y] 5,000
ORILIANLALETALEEYIS 5,000
202 04t 10,000 9,000 1,000
01 201 b 10,000 9,000 1,000
SUSHANLAYEX 10,000
AFANSHTATH 6,367,000 6,359,000 8,000
=l 5,267,000
= 1,100,000




A 23T
M MSEsRae HAE 2zl (2L 2Z/25HH)

&2 A2 A (etel: =3
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2
403 XXM S =01 6,367,000 6,359,000 8,000
& 5,267,000
= 1,100,000
01 AtXIEH A= 2 X 6,367,000 6,359,000 8,000
OEFIA2EAI TS 6,367,000
= 5,267,000
= 1,100,000
HE 2L ZHI (23 2) (O1EHDIIEH) 38,800 34,400 4,400
Jl=&Hl 38,800 34,400 4,400
Jl=&Hl 38,800 34,400 4,400
201 et2Ad| 25,800 25,000 800
01 AR 2t 2ldl 25,800 25,000 800
O gt=ZH| 15,000
OJIZMNRESS 15,000
WEEL] 10,800
OS2 HAIH HRFE S Al 10,800
202 (44l 13,000 9,400 3,600
01 SLHAObI 13,000 9,400 3,600
D2 HAIE Z S =804l 13,000




